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£5 B. =& (Contradiction Matrix)
1 2 3 4 5 6 7 8 9 10
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=8|=8| %8| 38| x8|x8|s8|s8|ad |2
1 Weight of moving 15,8 29,17 29,2 2,8 8,10
object 29,34 38,34 40,28 15,38 | 18,37
2 W(.aight of stationary ;g 315 i2:320 ?432 flg,lgos
object
3 Length of moving 8,15 15,17 7,17 13,4 | 17,10
object 29,34 4 4,35 8 4
4 Le_ngth of stationary 35,28 17,7 35,8 28.10
object 40,29 10,40 2,14 '
5 Area of moving 2,17 14,15 7,14 29,30 | 19,30
object 29,4 18,4 17,4 4,34 |35,2
6 Area of stationary 30,2 26,7 1,18
object 14,18 9,39 35,36
7 Volume of moving 2,26 1,7 1,7 29,4 11535
object 29,40 4, 35 4,17 38,34 | 36,37
8 Vo_Iume of stationary 35,10 19.14 35,8 2,18
object 19,14 ' 2,14 37
9 | speed 2,28 13,14 29,30 7,29 13,28
13,38 8 34 34 15,19
. 8,1 18,13 | 17,19 19,10 1,18 15,9 | 2,36 | 13,28
10 | Force(intensity) 3718 | 1,28 | 9,36 | 2810| 15 | 3637 | 1237 | 18,37 | 1512
10,36 | 13,29 | 35,10 | 35,1 | 10,15 | 10,15 | 6, 35 6,35 | 36,35
11 [ Stress or Pressure 3740 | 1018 | 36 | 1416|3625 3537 10 |39?] 36 | 21
12 | Shape 8,10 | 15,10 | 29,34 | 13,14 | 5, 34 14,4 7,2 35,15 | 35,10
29,40 1 26,3 | 5,4 10,7 | 4,10 1522 | 35 34,18 | 37,40
13 Stability_qf object’s 21,35 ] 26,39 | 13,15 37 2,11 39 28,10 | 34,28 | 33,15 | 10,35
composition 2,39 11,40 |1,28 13 19,39 | 35,40 | 28,18 | 21,16
14 | strength 1,8 40,26 | 1,15 | 15,141 3,34 | 9,40 | 10,159,114 | 8,13 | 10,18
40,15 | 27,1 |1 8,35 | 28,26 | 40,29 | 28 14,7 117,151 26,14 | 3,14
15 Dura_ltion of action of 19,5 2,19 3,17 10,2 3,35 | 19,2
Moving object 34,31 9 19 19,30 5 16
16 Durgtion of a(_:tion of 6, 27 1,10 35,34
Stationary object 19,16 35 38
17 | Temperature 36,22 | 22,35 | 15,19 | 15,19 | 3,35 3538 34,39 1356 |2,28 | 3510
6,38 | 32 9 9 19,18 ' 40,18 4 13630]321
18 lllumination Intensity 19,1 12,35 | 19,32 19,32 2,13 10,13 | 26,19
32 32 16 26 10 19 6
19 Use _of energy of 12,18 1218 15,19 35,13 8,15 | 16,26
moving object 28,31 ' 25 18 35 21,2
Use of energy of 19,9
20 stationary ogjyect 6, 27 36,37
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1 | Weignt of moving 10,36 | 10,14 [ 1,35 [ 28,27 [ 5, 34 6,20 | 19,1 | 3512
object 37,40 | 3540 | 19,39 | 18,40 | 31,35 4,38 | 32 |3431
- - 13,29 [ 13,10 [ 26,39 [ 28, 2 2,27 | 2819 [ 19,32 18,19
2 | Weight of stationary 1018 | 2914 | 1, 40 | 10227 19,6 | 3222 | 35 28, 1
object
3 | Length of moving 18 [18 [18 [835 ] ¢ 1015 [ 5, [8,35
object 35 | 10,29 | 15,34 | 29,34 19 24
4 | Length of stationary 1,14 | 13,14 [ 39,37 | 15,14 1401335 [,
object 35 |157 | 35 |2826 35 |3818]
5 | Area of moving 1015 [5,34 11,2 [3,15 [ 5 2,15 [1532 [ ¢ o,
object 36,28 | 29,4 | 1339|4014 | ™ 16 | 1913 ]
Area of stationar 10,15 2,10 | 35,39
6 | object g 36,37 2,38 | 40 1930 | 38
;| Volume of moving 6,35 | 1,15 | 28,10 | 9,14 | 6,35 3439 [2,13 |
object 36,37 | 29,4 | 1,39 | 15,7 4 10,18 | 10
8 Vo_Iume of stationary 2435 7,2 34,28 | 9,14 35,34 | 35,6
object ' 35 | 3540 17,15 38 4
o | speed 6,18 [ 3515|2833 [8,3 |3 19 28,30 | 10,13 | 8, 15
38,40 | 18,34 | 1,18 | 26,14 | 35,5 36,2 | 19 |3538
. 18,21 | 10,35 [ 35,10 [ 35,10 35,10 19,17 [ 1,16
10 | Force(Intensity) 11 | 4034 | 21 [1427] 192 21 10 | 36,37
11 | stress or Pressure 35,4 | 3533918 [ 19,3 35,39 14,24
15,10 | 2,40 | 3,40 | 27 19, 2 10,37
34,15 33,1 [ 30,14 [ 14,26 22141315 [ 2,6
12 | Shape 10,14 18,4 | 1040 | 9, 25 1932 | 32 | 34,14
13 | Stability of object’s 2,35 [ 22,1 17,9 [1327]39,3[351 [323 [ 15,4274
composition 40 | 18,4 15 |1035]3523| 32 |2715] “>7 | 29,18
10,3 [ 10,30 [ 13,17 27,3 30,10 19,35
14 | Strength 18.40 | 3540 | 35 26 a0 || 0 | 30
15 | Duration of action of 19,3 [ 1426 [ 13,3 [ 27,3 19,35 [ 2,19 [ 28,6
Moving object 27 | 2825]| 35 10 39 | 4,35 | 3518
16 Durgtion of a(_:tion of 39,3 19,18
Stationary object 35,23 36,40
17 | Temperature 3539 [ 14,22 [ 1,35 [ 10,30 [ 19,13 ] 19,18 32,30 [ 19,15
19,2 | 1932 | 32 |2240| 39 |3640 2116 | 3,17
. . 32,3 2,19 32,35 32,1 | 32,35
18 | lllumination Intensity 32,30 27 35,19 6 19 19 1,15
19 | Use of energy by 2314 [ 12,2 [ 19,13 ] 5,19 [ 28,35 19,24 [ 2,15
moving object 25 29 17,2419,35 | 6,18 3,14 19
20 Use_ ofenergy by 27,4 35 19,2
stationary object 29,18 35,32
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L | Weight of moving 1236 |62 1535 | 1024 | 1035 | 3.26 | 3. 11 | 28.27 | 28.35 | 22.21
object 1831 | 3419 13,31 | 35 | 20281831127 | 3526|2618 | 18,27
- , 1519 | 1819 | 5.8 | 10,15 | 10,20 | 19.6 | 1028 | 18.26 | 10,1 | 2, 19
Weight of stationar ' ' ! ! ' ' ) ’ ’ !
2 | e onary 1822 | 2815 | 1330 | 35 | 3526|1826 (8,3 | 28 |3517]2237
object
Length of moving 7.2 |4 29 15,2 1014 | 2832 [ 1028 | L 15
3 | object 135 13530 | 2310 | 22| 20 [ 2935|2040 4 | 2037|1724
Length of stationary 10,28 30,29 15,29 | 32,28 | 2, 32
4 | object 12,8 16,28 | 5435 | 2426 | "1y 28 3 | 10 |18
Area of moving 19.10 | 15.17 | 10,35 29,30 | 29,9 | 26.28 22.33
5 | object 3238 | 3026 | 2,30 | 3026|264 | 5 13 323 | 232|281
6 Area of stationary 1732 17,7 110,14 3016 10,351 2,18 | 32,35 ] 26,28 | 2,29 | 27,2
object 321 30 | 1839 | %91 | 4,18 | 40,4 | 40,4 | 32,3 | 18,36 | 39,35
7 Volume of moving 35,6 | 7,15 | 36,39 2 29 2,6 29,30 | 14,1 | 25,26 | 25,28 | 22,21
object 1318 | 13.16 | 3410 | #%% | 3200 7 4011 | 28 |216 | 27,35
8 Volume of stationary 306 10,39 35,16 35 3 2,35 35,10 | 34,39
object ’ 35,34 3218 | 33| 16 25 | 19,27
19,35 | 14.20 | 10.13 1819 | 11.35 | 2832 | 1028 | 1, 28
9 | Speed 38 2 | 1935 | 2838 | 1326 2038 | 2728 | 1,24 | 3225 | 35,23
) 19,35 8. 35 1037 | 14.29 | 3,35 | 3510 | 28,29 | 1,35
10 | Force(Intensity) 1837 | 1415 405 36 | 1836 | 13,21 | 23,24 | 37.36 | 40.18
10,35 | 2,36 | 10,36 37.36 | 10,14 | 10.13 | 6, 28 22.2
11 | Stress or Pressure 14 25 3,37 2 36 1935 o5 3,35 37
7.6 35,29 14.10 1040 | 2832 | 3230 | 22, 1
12 | Shape 2 1417355 3417 | 3622 | "1 1 | 40 |235
Stability of object's 3235 | 14,2 | 2. 14 15.32 35,04
13 | composition 2731 | 39,6 | 30.40 35271 "35 131 18 ]3018
10,26 35,28 29,3 | 29.10 3,27 18,35
14 | Strength 3508 | 3° |3140 2810 27 | ™3| 16 |39 |37
1 | Duration of action of 19,10 2827 o |2000[3.35 [1L2 | 5 [3.27 [2215
Moving object 35,38 3,18 2818 | 1040 | 13 16,40 | 33.28
16 Duration of action of 16 27,16 10 28,20 | 3,35 | 34,27 | 10,26 17,1
Stationary object 18,38 10,16 | 31 6, 40 24 40,33
17 | Termperature 2.14 | 21.17 | 21.36 3528 3,17 [ 1935 [3219 | ,, | 2233
P 17,25 | 35.38 | 29,31 2118 | 30,39 | 3,10 | 24 35,2
— ) 19.16 19,1 1115
18 | lllumination Intensity 32 16 13,1 1,6 2617 1,19 30 3,32 | 15,19
1o | Use of energy by 6,10 | 12.22 | 3524 3538 | 3423 | 1921 | 3. 1 1,35
moving object 3718 | 1524 | 18,5 1918 | 1618 | 11,27 | 32 6, 27
20 Use of energy by 28,27 3,35 ] 10,36 10,2
stationary object 18,31 31 23 22,37
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1 Weight of moving 22,35 | 27,28 | 35,3 2,27 29,5 26,30 | 28,29 | 26,35 | 35,3
object 31,39 | 1,36 2,24 28,11 | 15,8 36,34 | 26,32 | 18,19 | 24,37
. . 35,22 | 28,1 6,13 2,27 19,15 | 1,10 2528 | 2,26 1,28
Weight of stationar ! ' ' ' ! ' ' ! '
2 >4 Y1139 9 1,32 |2811 | 29 |2639 |1715 | 35 |1535
object
3 Length of moving 1715 1,29 1,29 1,28 14,15 11,19 35,1 17,24 | 14,4
object ' 17 35,4 10 1,16 26,24 | 26,24 | 26,16 | 28,29
Length of stationary 15,17 30,14
4 object 27 2,25 3 1,35 1,26 26 7,26
5 Area of moving 17,2 13,1 15,17 | 15,13 1530 14,1 2,36 14,30 | 10,26
object 18,39 | 26,24 | 13,16 | 10,1 ! 13 26,18 | 28,23 | 34,2
Area of stationary 22,1 1,18 2,35 10,15
6 object 40 40,16 | 16,4 16 15,16 36 30,18 23 17,7
Volume of moving 17,2 29,1 | 1513 29,26 | 3534 | 10,6
! object 40,1 40 30,12 10 1529 | 26,1 4 16,24 | 2,34
Volumeof stationary | 30,18 2,17 35,37
8 | object 354 | P ! 1,31 | "5 10,2
2,24 35,13 | 32,28 | 34,2 15,10 | 10,28 | 3, 34
9 | Speed 3521 |81 |1312 | 2827 | 26 | 434 |2716 | 1018
. 13,3 15,37 | 1,28 15,1 15,17 | 26,35 | 36,37 3,28
10 | Force(Intensity) 3624 |18/1 |3.25 | 11 | 1820 | 1018 [ 1019 | #3° | 3537
2,33 | 1,35 19,1 |2 36 10,14
11 | Stress or Pressure 27.18 16 11 2 35 35 37 35,24 3537
1, 32 32,15 1 2,13 1,15 16,29 | 15,13 | 15,1 17,26
12 | Shape 3.1 17708 | 26 1 29 |1,28 | 39 32 | 340
13 Stability of object’s 35,40 3519 32,35 | 2,35 35,30 | 2,35 3522 | 1,8 23,25
composition 27,39 ! 30 10,16 | 34,2 22,26 | 39,23 35 40, 3
1535 | 11,3 | 3240 |2711 [153 |2,13 [27,3 29,35
14 | Strength 22 |1032 282 | 3 |32 | 28 |1540| ¥ |1014
15 Duration of action | 21,39 | 27,1 1227 29,10 | 1,35 10,4 19,29 6 10 35,17
of Moving object 16,22 4 ’ 27 13 | 29,15 | 3935 | 14,19
Duration of action 25,34 10,20
16 of Stationary object 22 35,10 ! ! 2 6, 35 ! 16,38
22,35 4,10 2,18 2,17 3,27 26,2 15,28
17 | Temperature 2 24 26,27 | 26,27 16 27 16 3531 | 1916 35
llumination 35,19 | 19,35 | 28,26 | 15,17 | 15,1 6, 32 2,26 2,25
18 32,39 | 28,26 19 13,16 | 1,19 13 32,15 10 16
Intensity
Use of energy by 2,35 | 28,26 1,15 1517 | 2,29 12,28
19 | moving object 6 | 30 |19 | 1728 | 1376 | 2728 | 3%%8 | 322 | 35
Use of energy by 19,22 19,35
20 stationary object 18 1,4 16,25 1.6
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8,36 | 19.26 | 1, 10 1732 | 35,6 | 30,6 | 15,35 | 26, 2
21 | Power 3831 | 17.27 | 35.37 1938 11338 38 | 2 2 | 3635
156 |19.6 | 7.2 |6.38 | 1516 |17.7 | 7,18 16,35
22 | Loss of energy 1908|189 [6.13| 7 |1730|3018] 23 | 7 | 38 |%6%
53 | Loss of substan 356 | 356 | 1429 | 10,28 | 35,2 | 10,18 | 1,29 | 3,39 | 10,13 | 14,15
0ss of substance 2340 | 22,32 | 1039 | 24 | 1031 39,31 | 30,36 | 18,31 | 28,38 | 18,40
24 | Loss of information 1(3);524 10’535 1,26 26 30,26 | 30,16 2,22 ] 26,32
55 | Loss of fim 10,20 | 10,20 [ 15,2 | 30,24 | 26,4 | 1035 | 2,5 | 3516 10,37
0ss oftime 3735 | 26,5 | 29 | 14,5 | 5,16 | 17,4 | 34,10 | 32,18 36,5
o6 | Quantity of 35,6 | 27,26 | 29,14 1514 | 2,18 | 15,20 35,29 | 35,14
substance 18,31 | 18,35 | 35,18 29 |404 | 29 3428 3
27 | Reliabilit 3.8 |310 | 1509 | 1529 | 17,10 | 3235 [ 3,10 | 2 35 | 21,35 | 8, 28
Y 10,40 | 8,28 | 14,4 | 2811 | 14,16 | 40,4 | 1424 | 24 | 11281 10,3
28 | Measurement accuracy | 32:30 | 2835 | 2826 | 32228 | 26,28 [ 26,28 [ 32,13 2813 | 4,
Y | 26,28 | 25,26 | 5,16 | 3,16 | 32,3 | 32,3 | 6 3224 | °2
29 | Manufacturing precision | 2832 | 2835 | 1028 [ 2,32 [ 2833 | 2,29 [ 32,28 | 25,10 | 1028 [ 28,19
9p 1318 | 27,9 | 2937 | 10 | 2932|1836 2 | 35 | 32 | 3436
50 | Obiectaffected hammfur [ 2221 [2.22 [17,1 |, [ 22.1 [27.2 [ 2223 3439 [ 2122 [ 1335
factors 2739 | 1324 | 39,4 | © 33,28 | 39,35 | 37,35 | 19,27 | 35,28 | 39,18
51 | Obiect-generated 1922 | 35,22 | 17,15 17,2 | 22,1 17,2 | 30,18 | 35,28 | 35,28
harmful factors 1539 | 1,39 | 16,22 1839 40 | 40 |354 |3,23 (1,40
2829 [ 1,27 | 1.29 | 1517 | 13,1 13,29 3513
32 | Ease of manufacture 1516 | 36,13 | 13,17 27 2612 16,40 1, 40 35 8,1 35,12
23 | Ease of operation 252 613 | 1,17 1,17 | 1816 | 1,16 | 4 18 | 1813 | 28,13
p 1315 | 1,25 | 13,12 13,16 | 1539 [ 35,15 | 3931 | 34 | 35
) 2,27 |2 27 | 1,28 | 3,18 | 15,13 25 2 111
34 | Ease of repair 3511 | 3511 | 1025 | 31 | 32 |18 ]3| T |39 10
35 | Adaptabilty or 1,6 1915351 | 1,35 [3530 [ . . [15.35 3510 | 15,17
versatility 15,8 | 2916 [ 292 | 16 |[29,7 | ™ 29 14 | 20
Device complexity 26,30 12,36 | 1,19 14,1 34,25 34,10
36 3436 | 3539 | 2624 | 2® | 1316 ®30 | 6 |1 16] 25 | 2616
a7 Difficulty of detection | 5756 | 6,13 | 16,17 s | 213|239 201|218 34 [3628
and measuring 28,13 | 28,1 | 26,24 1517 | 30,16 | 4,16 | 26,31 | 16,35 | 40,19
Extent of automation 28,26 | 28,26 | 14,13 17,14 35,13
38 1835 | 3510 [ 1728 | 2 | 13 16 28101 2,35
29 | Productivit 3526 | 28,27 | 18,4 | 30,7 | 10,26 | 10,35 | 2,6 | 3537 28,15
y 2437 | 15,3 | 28,38 | 14,26 | 34,31 | 17,7 | 34,10 | 10,2 10,36
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21 | Power 2210 [ 29,04 [ 3522 26,10 [1935 | |, [214 [ 16,6 [ 16,6
35 | 2,40 |1531| 28 | 1038 1725 | 19 | 19,37
14,2 19,38 [ 1,13
22 | Loss of energy 39.6 26 7 32.15
23 | Loss of substance 3,36 | 2935 | 2, 14 | 35,28 | 28,27 | 27,16 | 21,36 | 1,6 | 35,18 | 28,27
37,10 | 3,5 | 304031403 18 | 1838|3931 | 13 | 24,5 | 1231
24 | Loss of information 10 10 19
25 | Loss of time 37,36 [ 4,10 [ 353 | 29,3 20,10 [ 2820|3529 [ 1,10 [ 3538 |
4 |3417]22,5 | 2818 | 28,18 | 10,16 | 21,18 | 26,17 | 19,18
-6 | Quantity of 1036 [ 4 1, [ 152 [1435[3,35 [3,35 [ 3,17 34,29 | 3,35
substance 14, 3 ' 17,40 | 34,10 | 10,40 31 39 16,18 31
- 10,24 | 35, 1 2,35 | 3427 | 3,35 | 11,32 | 21,11
27 | Reliability 35,19 | 16,11 112813705 6,20 | 10 | 13 | 2710302
28 | Measurement accuracy | 628 | 628 [3235[ 28,6 28,6 T1026 6,19 6,1 |36
Y| 32 32 13 32 32 24 | 2824 32 32
29 | Manufacturing precision | 3,35 3‘21830 30,18 | 3,27 3;137 19,26 | 3,32 | 32,2
30 | Obiect-affected harmful [ 22,2 [22,1 3524 [ 1835 [ 22,15 17,1 [ 2233 [ 1,19 [1,24 10,2
factors 37 |3,35 | 3018 ]37,1 |3328]4033]352 |3213]6,27 | 22,37
31 | Obiect-generated 2,33 [ 5o, 35401535 [ 1522 [ 2139 [ 22,35 [ 19,24 [ 2,35 [ 1922
harmful factors 27118 | 2>+ | 2739 | 22,2 | 3331 | 16,22 | 2,24 | 3932 | & 18
3510 | 1,28 | 11,13 | 1,3 | 27,1 27,26 | 28,24 | 28,26
32 | Ease of manufacture 1,37 | 1327 1 10,32 4 35,16 18 271 | 271 1,4
23 | Ease of operation 2,32 | 1534 | 32,35 | 32,40 | 29,3 | 1,16 | 26,27 | 1317 | 1, 13
P 12 |2928| 30 |3,28|8,25 | 25 13 |1,24 | 24
. 1,13 11,1 | 11,29 15,1 | 15,1
34 | Ease of repair 13 2.4 2,35 2.9 2827 1 4,10 13 2816
Adaptability or 15,37 | 35,30 | 35,3 | 13, 1 27,2 | 6,22 | 19,35
35 | versatility 3516 | 13 14 |326 ] 35 |21 ]335 261 |2013
26 | Dovi o 19,1 | 2913 [ 2,22 | 2,13 | 10,4 2,27 | 2417 | 27,2
evice compiexity 35 | 2815|1709 28 | 2815 13 | 13 |2928
a7 Difficulty of detection | 35 35 | 27,13 | 12,22 | 27,3 | 1929 | 25,24 | 3,27 | 2, 24 25 35 | 1935
and measuring 37,32 | 1,39 | 39,30 | 15,28 | 39,25 | 6,35 | 35,16 | 26 16
_ 15,32 26,2 | 8,32 | 2 32
38 | Extent of automation 13,35 113 18,1 ] 25,13 | 6,9 19 19 13
29 | Productivit 1037 [ 14,10 [ 35,3 [ 29,28 [ 35,10 [ 20,10 | 3521 [ 26,17 [ 3510 |
y 14 | 3440|2239 | 10,18 | 2,18 | 16,38 | 28,10 | 19,1 | 38,19
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10,35 | 28,27 35,20 | 4,34 | 19,24 | 32,15 19,22
21 | Power 38 |1838 | 1919|106 | 19 |2631]| 2 [3%?2]312
35,27 1018 | 7,18 | 11,10 21,22
22 | Loss of energy 3,38 2,37 19,10 327 o5 35 32 35 2
23 | Loss of substance 28,27 | 35,27 1518 | 6,3 | 10,29 | 16,34 | 35,10 | 33,22
18,38 35,10 | 10,24 | 39,35 | 31,28 | 24,31 | 30,40
. . 24.26 | 24.28 | 10,28 22,10
24 | Loss of information 10,19 | 19,10 2832 35 23 1
25 | Loss of time 35,20 | 10,5 | 35,18 | 24,26 35,38 | 10,30 | 24,34 | 24,26 | 35.18
10,6 | 18,32 | 10,39 | 28,32 1816 | 4 |2832]2818| 34
56 | Quantity of a5 | 718 |63 [2428] 3538 18,3 [13,2 [ 554, [ 3533
substance 25 | 1024 35 |18.16 28,40 | 28 Y | 99,31
. 21,11 | 10.11 | 10,35 10,30 | 21,28 32,3 | 11,32 | 27,35
27 | Reliability 2631 | 35 | 29301028 | 4 |a03 1123 1 ]2,40
28 Measurement accuracy | 3,6 26,32 | 10,16 2434 12,6 51 28,24
32 | 27 |31.28 2832 | 32 |1,23 22,26
. .. 13,32 | 35,31 32,26 11,32 26,28
29 | Manufacturing precision | 32,2 5 1024 2818 32,30 1 1036
30 | Object-affected harmiul [ 19,22 [ 2122|3322 [ 22,10 | 35,18 [ 35,33 [ 27,24 | 28,33 | 26,28
factors 31,2 | 35,2 1940 2 | 34 [|2931]2 40 | 2326 10,18
31 Object-generated 2,35 121,35]10,1 | 10,21 1 92 3,24 124,2 13,33 | 4,17
harmful factors 18 2,22 34 29 ’ 39,1 14039 | 26 34,26
27,1 15,34 | 32,24 | 35,28 | 35.23 1,35
32 | Ease of manufacture 1224 19,35 33 1816 | 34.4 | 1 24 12.18 24,2
. 3534 | 2,19 | 28,32 | 4, 10 | 4, 28 1727 | 2513 [ 1,32 | 2 25
33 | Ease of operation 210 | 13 | 224 | 2722|1034 | 123 | 8,20 | 2,32 | 3523 | 2830
. 1510 | 15,1 | 2 35 32,1 | 2,28 | 11,10 | 10,2 35,10
34 | Ease of repair 32,2 | 32,19 | 34,27 1025 | 1025 [ 1,16 | 13 | 2> 2, 16
35 | Adaptability or 19,1 | 18,15 | 15,10 2508 | 335 [ 3513355 35,11
versatility 29 1 |213 ' 15 |8,24 | 1,10 32,31
26 | Device comploxit 20,19 | 10,35 | 35,10 s 20 | 133 | 1335 [ 2,26 [ 2624 [ 22,19
piexity 30,34 | 13,2 | 28,29 ’ 2720 1 |1034] 32 |2940
a7 Difficulty of detection | 19 9 | 35 3| 1,13 | 35,33 | 18,28 | 3,27 | 27,40 | 26,24 22,19
and measuring 16,10 | 15,19 | 1024 | 27,22 | 32,9 | 29,18 | 28,8 | 32,28 29,28
_ 28,2 35,10 24.28 11,27 | 28,26 | 28,26
38 | Extent of automation 27 23,28 18 5 35,33 3530 35,13 32 1034 | 1823 2,33
— 35,20 | 28,10 | 28,10 | 13,15 1,35 | 1,10 | 18,10 | 22,35
39 | Productivity 10 | 2935|3523 23 3538 | 1038 | 3428 | 32,1 | 1324
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21 | Power 2,35 | 26,10 | 26,35 | 35,2 | 19,17 | 20,19 | 19,35 | 28,2 | 28,35
18 34 10 10,34 34 30,34 16 17 34
21,35 35,22 35,3 28,10
22 | Loss of energy 222 1 2,19 7,23 1523 2 2935
23 | Loss of substance 10,1 | 15,34 | 32,28 | 2,35 | 15,10 | 35,10 | 35,18 | 35,10 | 28,35
34,29 33 2,24 | 34,27 2 28,24 | 10,13 18 10,23
24 | Loss of information 13'221 32 | 27,22 35,33 35 1?;;3
. 35,22 | 3528 | 4,28 32,1 18,28 | 24,28
25 | Loss of time 1839 | 344 | 1034 | 10 | 328 629 | 310 | 3530
26 Quantity of 3,35 29,1 | 3529 | 2,32 15,3 3,13 3,27 835 13,29
substance 40,39 | 35,27 | 25,10 | 10,25 29 27,10 | 29,18 ! 3,27
N 35,2 27,17 1335 | 1335 | 27,40 | 11,13 | 1,35
27 | Reliability 40,26 a0 | MM le2a| 1 | 28 | 27 | 2038
28 | Measurement accurac 3,33 6, 35 1,13 1,32 | 1335 | 27,35 | 26,24 | 28,2 | 10,34
y 39,10 | 25,18 | 17,34 | 13,11 2 10,34 | 32,28 | 10,34 | 28,32
. . 4,17 1,32 26, 2 26,28 | 10,18
29 | Manufacturing precision 34.26 35.23 25,10 18 1823 | 3239
30 Object-affected harmful 2435 | 2,25 | 3510 | 35,11 | 22,19 | 22,19 | 33,3 | 22,35
factors 2 28,39 2 22,31 | 29,40 | 29,40 34 13,24
31 Object-generated 19,1 ] 2,21 2 22,35
harmful factors 31 27,1 18,39
32 | Ease of manufacture 2,5 35,1 2,13 | 27,26 | 6,28 8, 28 35,1
13,16 11,9 15 1 11,1 1 10,28
33 lE f " 2,5 12,26 | 15,34 | 32,26 1,34 15,1
ase ot operation 12 1,32 | 1,16 | 12,17 123 | 28
34 | Ease of repair 1,35 1,12 7,1 35,1 3435 ] 1,32
P 11,10 | 26,15 4,16 13,11 7,13 10
35 Adaptability or 1,13 | 15,34 | 1,16 15,29 1 27,34 | 35,28
versatility 31 1,16 7,4 37,28 35 6, 37
. . 2726 | 27,9 29,15 15,10 | 15,1 | 12,17
36 | Device complexity 19,1 113 | 26224 1,13 2837 3728 o1 28
Difficulty of detection
37 2,21 fl 2289 2,5 12,26 | 1,15 ég;g 34,21 | 35,18
and measuring ' '
. 1,26 1,12 1,35 27,4 | 15,24 | 34,27 5,12
38 | Extent of automation 2 13 343 13 1,35 10 5 3526
39 | Productivit 3522 | 3528 | 1,28 1,32 1,35 | 12,17 | 35,18 | 5,12
roductivity 1839 | 2,24 | 7,19 | 1025 | 2837 | 2824 | 27,2 | 3526




